Pz
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aﬁt{qem e 3 w1%waﬁ1oﬁwmﬁwmwmtl

Questions : 51 to 100

fRsr - (Wo Ho 51 & 55 )

e T 7T TESr # OUEHT q9E T [T H
TIT FTT |/

el SRR T TE e, UH 8 Y 9= U
aﬁw%ﬂaaﬁlmmfﬁﬁf é’mﬁm
BT F ¢ | Ty gfow gl @l

%Wﬁﬁﬂﬁaﬁﬁﬁzﬁr’s‘ﬁ@qﬁﬁraﬁ
gaﬁ%lmﬁ-aﬁéwaﬁw
SR AT B, F3 SoNAY, FHS HEAGH, FS
FAHR, TS T, I THO-GARE g | GH

F 3 Y THX & T Pl AEEHAT ¢ AW

T gf ¥ 9o F i S g1 oot fre-

W % §HE Y a1 & Ak | UREd &

Tl 99 9|l W R & qs @ R
TEE &1 4 96% ARRE & gyfd e e
H AT 98 A/l SiEd g9 H B dral o
i v 2 D B T 2 B
sagFmaiell & gt § WH de AR
W § @ I STl & a9 dF d9feT X
qid TS grReahoT & fom IRE e
T | 3TF FBR & Howzar e W 4 3%
gad gU wed @ Rm I emew) fen &
T Haq oAl § @ el § a%] 98 Sad
S Y 99 & JII g% ¢ A R F WY Wy
forE, e oR e o oaWr @ Rem @
Ry T OB awgm:-fen @ oo ® - AR

W@ﬁﬁﬁﬁ?ﬂﬁ:ﬂiﬂ@é%%%&.

=l e U 9w & gareier e 9woad
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PART - I (T - T1)
LANGUAGE TEST
ST JIET

(o=t )

A R ol @ e R A Ry @ smine
fere @ @i e 3 @ifen i IuH SN
T T ¥ € w=e qiass & e g 2
AR R A= Ml & @ B W OIE
99 % O%d UE g9t 99e-OdM d -
frmior & F § ST9 AFREM. T |

g B Rt & THY 9% Ald
d gRRE M oMasEsd §, it

(1)@%%%%%?%&3@

51.

S o B

(2) 3% §9 9§ H.EW IEH ot
ZEEE B G T ¢ |

(3) TEH T Y Ao gk @ s
gl ‘

(4) 7 IEd AT & fwE & e e
H HH FLAT B |

Rrer-ofa @1 Sfeq & S ddy 8 7
(1) &1 9% & 91y uror &

52.

(2) SrEl B S JEw &
(3) S AT X GAS FHI
(4) ST R SR g w@
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53.

54.

g e & @ oy ? 7
(), s F A R

(2) 9T F FET fREE
{3) e 1 TR g
(4) aEH F AAGS @wE

g% R & g # EeE E

(1) 99 KT @ 2

(2 @ A @ Reme &

(3) 9§ Y X Afkass a4 @y &

(4) V9 9n g B

55.

_56.

dieq & gfwE R A Rig & arifE
fIFe W oM 3 a8, ;i

(1) i et e w & el A
el 21

@ wrifE fEm ¥ & aRbs REm
BT B

(3) @ WK A & Rl & st
e F o TEA 1.

(4)Wmﬁ€rmqﬁﬁﬁﬁm
fare 2 ®

et A B F dE § o
(1) 25
2 29
(3) 33

4) 13
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57.

58.

59.

60.

‘Wi T F FEN Av-fERT B
(1) 9+T+A+F+H| +q +3
(2) T+A+T+F +H +q +%
(3) q+§+§+fﬂ T+ E 4T LT
(4 9 +H+T+F +T+ T+§

I s I M o i 1 M D

g § @i AT BE-A w7
(15 e UEEey

(2) I GEEY

3) Rt sy

(4) TR 9w weaey

S+ 3@ @ oarhg e

(1) T

(2) =

(3) TH

(4) e

It A =R & g SW A o B
rd ¥ % R, @ & e ¥

(1) @ gers, Fepdl e
(2) TR T g

(3) M F e Tl
(4) T 9 G




T FE B OARE F A B
IugaR o ® -
(1) &g ¥ I8 9 & det & |

61.

(2 HH H HG THNT P SAEAAEA
2 |

(3) W& P THIT Hl SELTHAT TE |

(4) T e & i yHr =R |

TES A A FYRYE (@A g A R
T g F aifes w9 § amEy

@) wES F GET TH B - e

(i) dee ¥ gddiia =g & e @
I HYT B |

(i) ¥ A HTN D TF o |

(w)m%’f%m'ﬂﬁwéﬁaaﬁww
e & |

(1) (@), (i), @), (v)
(2) @), (i), (i), @v)
(3) @), (v), (i), (i)
4) @), (iv), (D), (i)

fe=fafgg & ¥ 3991 8960 ©
ST GUTH F IS € 7

62.

63.

(1) w98
(2) TEg

| (3) =R
(4) IR
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64.

65.

66.

67.

‘IO A= B G- B |
(1) ST + 35

(2) JIR + IH

(3) IR + g

4) S + g
‘IR®’ 9 # ¥&d § ¢

A % |

2 R=&

@) g%

(4) ;W

Frefofea & & g5 I @ 9
FHifTT

(1) gﬁﬁmﬁﬁﬁmmﬂ@sﬁmﬁm
@) oA @ qY e A =

(3) oI ST ol WY BIg &1 d1ied |
(4) T Al F Y 8IS & =Ry

9= & ® F-uRkE ¥ g 9 R
7RI @I gL AT H AlfEE #H A
TR

() S & g o H @@ @

(i) TH-E-A S & ST "

(iii) U9 ¥ I THET =S A

(iv) T & dqer I T grerr

(1) @, @), Gi), Gv)
(2) @, (v), (1), (11)
(3) @), @), (11), Gv)
4) @), Qv), (1), (i1i)
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68. ‘AT 9= ¥ IUEd F ¢ o o ?ﬂﬁ
@ % BT |
© @ ThEHT AT f I A
®) #q 69. T FAEE R BRA 33 A AW T @
o - T ?
_ (1) frefa. =t @ v
R : (Fo Fo 69 & 73 ) (@ Y T ¥ wew T8 A A T
#2 Ry T T 7 T T T T A7 A T T |
77T #T | . @ mEEE A
- T gt R od A 3 R (4) P R @ a9 @ @

H o ] ik 70. wﬁmﬁmmﬁﬁwm%?

W AT (1) 9 F THRE FEA

Aq A9 T T F A @ R G e

9w A - _ (4) T F GO A
e 71 d oo PR B B aw B 7
T T S g S A A (1) 9 §ar g9 @ &

sEE ot alt & FB &9 2 &) 2 P oEe & g9t 8

@A TRA (3) St O @ ST A B A
- T T B

R g W D FEgd (4) o R & =T &

SEERANES W S 72. FrfifEg & @ a9 a= B @

T @ A T T 7

o $ & Bl @ Sdl & (1) &g
AR @ W
A o, R & W ' (3) fmar 5
Rl g ' (4) #™
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73.

74.

75.

76.

‘Ta-Yeerd’ o ;e T 7
(1) T o
(2) T WA
(3) 7 9
(4) 41 U

‘W g o IyEt oK 0@ 9=

(1)",qt+m

(2) 9 + 94

(3) W + g

(4) T + 397

Frafafag & & $F-A1 =% a1 3 e
AgE 7

(1) X

.

(2) HIX

3
(4) 2T

frfofad & & a%‘m-m.am @ #
e A g a8 7

(1) @ T 9ga [, I g I
(2) 9RE™ FH art B SO &
@) =1 9= Frlt weg &1 |

(4) RIF g & IqT BF W A
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717.

78.

79.

80.

C

d9 Ru W g @ e wW A

ET

() S & | e O Fed A 5 T |

i) #ror o1 B & Al g8 9w dad
& M Al

(i) 29 I T TF TE-TE B A9 e
® &K e & )

(iv) gfedi & Ar|q o1 T 89 oF d
LSRG

(1) (@ii), Gv), (D), @)

(2) (@v), (), (1), ()

(3) @), (i), (i), Gv)

4) @v), (@, @), (i)

‘Rrsrdm @ W % R gEEr §
(1) PR # d@ 31 g8+

(2) HIE-HIE H 91 AT

(8) M F F=AT BT

(4) FF W F T EE

fu U e § § 98 "eEEs 6
gifeu

(1) g&9

(2) 98

(3) drey

(4) goud

Frefefa § ¥ M@ o= ‘@l @
atgarE T& 8 ? :

® ™ -

(2) TXI

(3) FI
4) P
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3 : (5o Ho 81 A 85 TF)

#7 Ry 1@ mEe @ ww R w7 # g
87 Tad TEl [T F TIT How

T TEW M AT IRE A T (81) e
R @ 98 omd o 89 qu o@w o W
gis 8 T 81 % Y Behnd gu el fb
g9S O 98-98 H TE @, gl T s & 7
T TR (B2) wrvvvevrvseces g1 TR IHH
ST g ? UHs I IgH TP a%
(83) eeeeeennn. Rar, #E 3T (84) .oovveve..
T qE 3 A f T e o ofR ot g
FX, | AN T R, A T8 | SR R
AT AT (85) v T

81 (D)
)
(3)

4)

82, (1

2

83. (1)

1877 y¥44 3 224

(4)
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84. (1) T
(2 st
(3) e
(4) =

85. (1) g
(2) FEX
(3)
(4) S

fdser : (9o Ho 86 & 90 )

A7 BT T T @ T R e @ g
8 77 el AT F TIT BT -

G € & T W B B (86) ... e
8 S B0 W I GS B AW SR ar &
FEl S FHA| TG B (BT T e
| o A e omiwg ¥ s & st
OO i B ¥ I &He, I
T @t et €1 el P dEw I d@h AR
am ?, % R cua gu swd wd § ¥
@ U IS & W SE ATERE T TR FA
TE U2 (89) ..ivreeruninns g1, IHH T XA H
T B F el ff v o s =
aE F R G g ff, ¥ fema (90)
.............. & S|

86. (1) ffa

(2) eyl
(3) THIEfY
(4) Aty




87. (1) 3P (2) @
(3) & (4) e

88. (1) fema (2) =
(3) q (4) dire,

89. (1) &0 2) o
3) g@ (4) B

90. (1) SMaIX

(2) 9
(3) qeft
(4) T4

fRr : (vs Ho 91 F 95 %)
.#F Ry 70 T # 9w G99 Fal A% #
gIT FIT |

g .

:
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91.

92.

93.

94.

95.

e S R R e 3 7

(1) 3 & fer

(2 & & e

(3) & & fomr

(4) i died & R

S o % B T T ¥ 7
(1) e AR

(2) TG AT

(3) FHHYT ek

(4) o Al

= orgt ¥ wHArT R wer T 7
(1) 5 " FHT & X % D fHar T8

FT |
(2)%ﬁqsaqrgﬁamﬁ gC F HA
|

(3) o % WiKT & fore ot sgar w1

(4) S g3-Heed are Bl |

(1) STFHYg e &

(2) s Al &

(3) A Al &

(4) -39
‘FepHOTEr = A IUE
(1) %

2 A

(3) orFd

(4)

PO




C .

f@%r : (do Ho 96 A 100 TH)
7 Re 1 e # vgwT gan g8 A%y T

L
£l
:
%wﬁii’i"’ﬁi

mw
23
i@b

(1) P T o o A 2

(2) Fra o =1 aifee 99= & 2|
(3) o S wd-feredt &t 2

(4) R =iy & ar Fra-gee w0 B

(26)

i

98.

99.

100.

gmﬁﬁwﬁw%'mmﬁﬂm

? “a

(1) /=81 WY oed 3 fem #
TEEH Bl 2 |

@) R e sieq & e & qerEsd

OB R '

(3) o199 W X T F AMSE SET
3 for ¥ Hems B |

(4) JE9 Tt SEq % fawg d
| TETTd B

AU 2W T Ay & Aied B Jae Had
P W R ?

(1) &gel P a

(2) Hroet o & v

@3) =T @ "

(4) foem |

gﬁ?’&sﬁiﬁﬁq Ar e #9 & S
(1) dmrd @t oraen | |
(2) At &t 9o 7 0 BN W

(3) el A F 99 | '
(4) AR FE FS @A @,

T F oMUY W fefafag # F F-
1 FYF 98 T8 B ?

(1) IR O TN @ TR § Al
F A9y qrEE BT B

(2) 9 & diie H T R &

(3) ST e HIAT %l A8 Ie-9raey
XA I BT B

(4) =g W B AR I

FIAT SFIIER B 2|
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Note : Must fill Language Option of Page 1 at Sr. No. 10 of O.M.R. Sheet.

PART - II (AT - 1)

- LANGUAGE TEST
HIST GRTE7°T
Questions : €110 100 (English Language)

Direction : (Q. No. 51 to 53) Direction : (Q. No. 54 & 55)
Select the word which means the opposite of Select the most appropriate option to fill in
the given word. ' the blanks from the given alternatives.
54. 1 told my mother that I ... »
5__1'_ Sheer : finish the work in time.
(1) thin (1) shall
. 5 _
(2) opaque (2 will
b 3 (3) would
3) light
@ le (4) can

(4) transparent
55. While she was studying in Delhi, her

52. Relezate: parents ......oooiee her pocket money

(1) promote every month.

(1) sends
(2) applaud
(2) send

(3) approve {8y weniding

{4) execute | _ (4) sent

53. Retardation : Direction : (Q. No. 56 to 60)
" & e Read the following passage and answer the
(1) retenpmle_ questions given after it (choose the most
W appropriate answer).
(2) preverntion
; It is said that a mother gives birth to a baby;

(3) acceleration I believe a child gives birth to a mother.
o Children grow up and eventually start
(4) replication ; leading their individual life 'a life that

NTSE(Level-1) Exam. Nov. - 2016 P.'T. 0.
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belongs to them'. They don't play the role of 7

a child throughout their life. They are
students, employees, businessmen/women,
~ lovers, spouses etc., but a mother is always a
' rhother; a father is always a father. They

were born the day their kid was born. That

first kick, the first cry, the first smile, the
first laughter, the first grasp of their little
fingers, the first bath, the first sniff of baby's
clothes, all firsts of the baby are firsts of the
parent too. These firsts become a permanent
part of the parents' lives. These are
engraved in their memories. They remain a
part of the pérent forever.

56., A mother is born when :

(1

the mother's mother gives her
birth as a baby.

e

the mother is called as mother by
her baby. :

(3)
4

the mother gives birth to a baby.

the mother gives birth to her ﬁxst
baby.

Who gives birth to a father ?

(1) his mother

(2) his father

(3) his first child _ .
(4) both His mother and his father

57.

58. A mother and a father is born when :

(1)
(2)

they get married.

they start living in the, same
house. '

(3)
(4)

they come first time in this world.

their first child is born.
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59. What remains a part 9f the parent
forever ? ,
(1) all children of the parent's house
(2)" male children of the parent's
- house

female children of the parent's
house

(3)

(4) all firsts of the baby of the parent

60.
same as 'engraved' in the given text ?

6
©)
®)
)

carved
etched
inscribed
buried

Direction : (Q. No. 61 to 70)

In the following passage there are some
numbered blanks. Fill in the blanks by
selecting the most appropriate word for each

blank from the given options.

On 26th January a devastating earthquake
shooi: Gujarat. It destroyed (61)..............
number of houses and killed thousands of
people. The debris trapped mahy people
This
people homeless. Help poured

it. earthquake made
in from different quarters (64)..............

Different organisations; ;, conducted the
process of rebuilding. People rescued the
make-

shift shelters and tents. Women prepared

survivors. _Voluntéers (65).cceerianne

Which of the following means the -



community centers. They
of children. The

governmeht brought high-tech machines.

care

. These machines dug holes through the

debris and rescued (68).............. _ trapped
people. The tireless work and selfless help
controlled the

the people

61. (1) many
(2)
3) a

the

(4)

some

62. below

(1)
2
3

4)

under
in

over

63. much

(1)
(2)
3)

(4)

enough
more

‘many

64. (1)
(27 immediately
€

(4)

quickly

 hurriedly
rapidly
build

“had built

65. (1)
(2)
(3

(4)

were built

built
NTSE(Level-1)-Exam. Nov.-2016"
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- 69.

inside into .

)
@

66. (1)

(38) within in

67. - (2) took

(4)

made

(1

(3) gaire did

68. more

(2)
(4)

much

many most

(1) of

(2) to
for

(3

(4) by

70. few

(1)
(2)
(3)

(4)

the
some

a few

Direction : (Q. No. 71 to 75)

Read the followiﬁg'passage and answer the
questions given after it (choose the most
appropriate answer).

What are the good parts of our civilization ?
First and foremost there are order and
safety. If today I have a quarrel with
another man, I do not get beaten merely
because I am physically weaker and he can
kick me down. I go to law, and the law will
decide as fairly as it can between the two of
us. Thus in disputes between man and man,
right has taken the place of might.
Moreover, the law protects me from robbery

P.T. O.
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and violence. Nobody may come and break
into my house, steal my goods or run off with
my children. Of course, there are ‘burglars,
but they are very rare, and the law punishes
them whenever it catches them.

T,

72.

73.

74.

What is the first merit of our
civilization ? '

(1) material advancement

(2) cultural advancement

(3) developmgntjof science

(4) order and safety

Now-a-days a physically weak man is

provided protection by :

(1) the -gl;Oup whosé membership he
opts for

(2) the law

(3) his wit and wisdom

(4) his friends and supporters

In olden days the >ru1e of life was :
(1) right

(2) might

(3) spiritualism

(4_) money

The essential condition for the
promotion of higher activities of life
18 :

(1) safety

(2) state support

(3) economic freedom

(4) encouragement and appreciation
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75. 'run off with my children' means :

%

(1) run arace with my children
(2) quarrel with my children
(3) ron away with my children

(4) -tease my children

Direction : (Q. No. 76 & 77)

The following five sentences come from a

paragraph. The first and the last sentences
are given. Choose the right order in which
the three sentences (P, @, R) should appear to
complete the paragraph.

76. S1. The next day was as hot as the
previous one. .

B! snusssismsasbees
BB cuneiensanuemagnsbiimEis
2. SRR S MU

S5. Not to turn up at the pool would

be an acknowledgment of defeat.

P - His body was stiff and sore after

3 v
the previous day's encounter.

Q- But he could not refuse the
challenge.

R - Ranji felt weak and lazy and not
at all eager for a fight.
: ST A
Choose from the optigr\;s given below :

(1) PRQ (2)' RPQ
(3) QRP 4) PQR¢



77. S1. Among the two income groups, a

different set of values exists.

A
B8, osransimesssidmn
S4.

S5. The ideal wife for such a man
separates  her  housekeeping
money into joyless little piles- so
much for rent, for fgod, for the
children's shoes; she is able to
face the milkman with
equanimity and never knows the
guilt of buying something she
can't really afford.

P - Nothing in his life is considered
more worthy than paying his
bills.

Q - Carefulness with money to the
point of meanness is applauded

as a virtue.

R - The young clerk, who makes his
wife a present -of a new dress
when he hadn't paid his house
rent, is condemned as

extravagant.
Choose from the options given below :
(1) PRQ (2) RPQ
(3) RQP (49 QPR
Direction : (Q. No. 78 & 79)

The following questions have the second
sentence missing. Choose the appropriate
sentence from the given option to complete il.
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78.

- 79,

(1

(2

3

(4)

ey

(2)

3

(4)

Cc

-

Camels are most valuable in a
desert country.

............................

This is because they have special
célls in their stomachs which

-store water, and because they can

also store fat in their humps.

Over soft, sandy ground where
most animals would get stuck, a
camel can travel easily.

‘They can travel long distances,

carrying heavy loads, with little
food or water. ;

Their peculiar but pleasant
swaying motion can be enjoyed in
deserts only.

They feel comfort when lying
down on the sandy ground.

On two  historic  occasions,

Gandhiji found a greater scope for
offering his services as a nurse.

On both the occasions he raised
an Indian Ambulance Corps that
tended the sick and carried the
wounded.

He proved an able leader of the
nursing squad and marched miles
and miles bearing the wounded
on a stretcher.

For his service he was awarded
the Zulu War Medal and the
Kaisar-e-Hind gold medal.

The moment Gandhiji heard of it,

he went there with four
assistants. '

One was the Boer War and the
other the Zulu Rebellion. '
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Direction : (Q. No. 80 to 89)
4

Choose the word which best fills the blank
from the four options given.

' 80. The psychologists believe that
' homework has become. ............. for
children and they have no time for

play and leisure.
(1) an Ie'xcuse
(2) a ‘curse

' .(8)_ a burden

(4) an anathema

81. The listeners recreate the story in
their minds according to their ...........
perceptions.

(1) personal
(2) individual
‘(8)-‘ manual

(4) memorable

82, The postmaster put the money in an
envelope .......... to Lencho and with it
a letter containing only a single word

as a signature : God.
(1) written
2 m-a-rked
~. (3 forwarded
 (4) addressed
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83.

84.

85.

86.

The doctqr ceeveeneeene. DET DOt 8 SQUeezE

the boils.

(1) suggested

~ (2) proposed

(3) advised

(4) recommended [
‘We must respect all the .......... . of
cultures different from ouvown.

1) religions -

(2) customs

(3) regulaﬁons

(4) trends

Education brings many ........... to

individuals to exploit and lead a
better life.

(1) incidents
(2) opportunities
(3) circumstances

(4) advantages

The white colour in our national flag

18 8 ceoereerenernrnessarnnnns of piece.
(1) signal

(2) hint .

{3) symbol

(4) symptom




87.

88.

89.

My mother sliced an apple into four

equal parts and
amongst the children.
(1) distributed
(2) gave
(3) divided
(4) scattered
It is a good practice tO .........eeeriens
the answer sheet once again before
h anding over it to the invigilator.
(1) see
(Q)chan
s
(3) look at
(4) glance
When the teacher asked Mohit a
question, he gave her a blank ..... e
@ look
(2) gaze
&3). sight

(4) stare

Direction : (Q. No. 90 to 95)

Select

the meaning of the given

phrases/idioms.
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90.

91.

92,

93.

94.

Fix up :

(1) arrange

(2) doing according to others desire
(3) raising something upward

(4) increase

"

In the blink of an eye :
(1) treat equally

(2) one glance

(3) very quickly

(4) defect in one eye

Put up with :

(1) follow

(2) tolerate

(3) keep together

(4) flourish to compete

Call off :

(1) switchoff

(2) end t_:_all

(3) cut p!.m_ne

(4) cancel

To be in the same boat :

(1) to be in the same difficult situation
(2). to wear the éame dress

(3) ' to travel in thé same vehicle

(4) to support the same party

P.T.O.
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95. Alittle birdie :
(1) a poor person
(2.7) a very small bird
(3) a secret person

(4). a new born baby
Direction : (Q. No. 96 to 100)

Read the following passage and answer the
questions given after it (choose the most
appropriate answer).

When a child listens to a story, reads a poem
or an instruction, s/he tries to understand
the text and makes meaning out of the
letters " of the
alphabet, sentences or paragraph (while

sounds (while listening),

reading). But s/he comprehends them as a
wht_)lé. As teachers of second language we
need to. enable our learners to look at
language in a holistic manner by bringing
together all the four skills. Learning is
meaning' making and language is learnt
when the learner uses language in real life
situations and contexts. The four skills. -
listening, speaking, reading and writing-
work better in the éompany of each other.

96. The four language skills are :

(1) teaching, learning, reading and
writing

(2) reading, speaking, listening and
' 4 teaching

(3) teaching, listening, reading and
speaking

(4) listening, speaking, reading and
writing
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97.

98.

99.

100.

The sentence "Hetaksh has learnt a .-
language." suggests that :

(1 He can’ read and write the
language. '

(2) He can speak the language.

(3) He can use the language in
context,.

(4) He can understand the language.

In the passage second language refers
to:

(1) language of a teacher

(2) language other than the mother
tongue

(3) language of a poem

(4) language of instfuction |
An alphabet is :

(l)k a’ l

2 A

(3) both 'a' and'A’

(4) a set of letters

According to the passage 'bringing

‘together' means :

(1) integrating

(2) mixing

(3) attracting

(4) closing




